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Koushik can do a piece of work in x days and
Kishnu can do the same work in y days. If they
can do the work in

HIYIH THEt &M & x a7 § & Gwar ¢ 37 fHvg
U & & y {7 ¥ &T G 21 af 9 et &m

& dl 9 I &M &l fha faa ¥ @ ?
() (x + y) days b) — ' days
(x+y)
(c) s days (d) ®+y) days
(x +y) xy

A hollow hemispherical bow is made of silver
with its radius 8 ecm and inner radius 4 cm
respectively. The bowl is melted to form a solid
right circular cone of radius 8 cm. The height
of the cone formed is

Tsh GrREe AR el faeat &1 a=1 § fSaet
et forsen 8 Wt 3fX arialies forsen 4 it i §1 &R
H 8 WHt FISaT 96T TS 319 HGRITUTh 9 I &
ToTu TTeTran STaT 81 &9 §U Vg i SiaTg (oha-t gt 2
(a) 7 cm (b) 9 cm (c)12cm (d) 14 cm
While selling a shirt, a shopkeeer gives a
discount of 7%. If he gives discount of 9% he
earn Rs. 15 less on profit. The market price of
the shirt is :

T& SIS do- W THMER 7% i e &1 §| Al 9
9% &t Y€ AT ¢, A1 W € 15 HT & @1¥ e § |
HUT &1 TR Jod feran &7
(a) 712 (b) 787 (c) 750 (d) 697
The railway fares of air conditioned sleeper
and ordinary sleeper class are in the ratio 4 : 1.
The number of passagers travelled by air
conditioned sleeper and ordinary sleeper
classes were in the ratio 3 : 25. If the total
collection was Rs. 37,000, how much did air
conditior sleeper passengers pay?
fertran m;ﬁﬁwaﬁ'{ﬁ 2 amv%qﬁa:ﬁ = Tﬁ'{a
4:1 l A
LT 9184 S0 FRT BT ST Tt ATE1 Sl T 3:
25 & IIQUW ® i AT F w1 998 & 37,000
T3, A qEIIHied I AUt & A 3 fhad TRt
FT A fewar?
(a) Rs. 15,000
(c¢) Rs. 12,000

(b) Rs. 10,000
(d) Rs. 16,000

5.

10.

11.

If the cost price of 20 books is the same as
selling price of 25 books, then the loss
percentage is

IfE 20 TSI &1 T oI 25 T&hl & (9T 909 &
SER g, a g @ ufavrd fean gam?

(a) 20 (b) 25 (c) 22 (d) 24

The number of students in a class is increased
by 20% and the number now becomes 66.
Initially the number was

TS FaT W BEI &t T 20% TgHT 66 B S 8, A
TR WEAT fanaet oit?

(a) 45 (b) 50 (c) 55 (d) 60

Two trains start from a certain place on two
parallel tracks in the same direction. The
speed of the trains are 45 km/hr and 40 km/hr
respectively. The distance between the two
trains after 45 minutes will be

gt 27 foht T € & 9T Sl X W9 feum § werdt
1 3 @ il w45 TR /HeT 3R 40 .0 g
2t 45 fiee a1g 1 3 & ofia &t gt feet @ii?

(a)25km (b)2.75km (c)3.7km (d) 3. 75 km
If x+5+——=6, then the value of
X+
D3 +— L g
(x +1)3
T x +5+ 1 :6@,ﬁ(x+1)3+ 1 AT HIE
x+1 (x +1)3
g
(a) 2 ()0 (c) -2 (d) 4
Ifa® + 1 = 9a(a ) then the value of (@)% + —is

(@)
?Jlﬁaz +1 =9a(a ») ?f, ?Ff(a)2 +%EF['FIT—[E?ITE.
(@)
(a) 81 (b) 18 ()79 (d) 83
The vertical angle A of an isoceles triangle

AABC is three times the angle B of it. The
measure of the angle A is

et FAEYST A ABC &1 ¥ &IUT A 38 HI0T B €
9 TUT ® A HIVT A @7 WF FAT ERT ?
(a)90° (b) 108° (¢)100° (d)36°

Two circles touch each other internally. The
radius of the larger circle is 6 cm and the
distance between the centre is 2 cm, then the
radius (in cms) of
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12.

13.

14.

15.

16.

17.

18.

3 g9 T TEL i AT &l AT WYl HIQ g1 92 g9 &t
fore 6 %,aﬁtéaﬁ'ﬁaaﬁaiﬁzﬁﬁ%,a}w
gu &t e (At W) TRt grn?
(a) 8 (b) 2 (c) 4 (d)3

2 2

If y=2sec6and x =3tan6 then%—yjis

2 .2
i y = 2secO 3 x =3 tano &Y, ﬁ%—me

4
qargu?
(a)1 (b) 2 ()3 (d)6
When n is divided by 4, remainder is 3. The
remainder when 2n is is divided by 4 is :

n &4 T AT W 3 Y @A 1 2n H 4 § WA A
X FT 9N AT

(a)1 (b) 2 ()3 (d)6

Eight members of a club donate Rs. 100 each
toward a Relief Fund and the President of the
club donates Rs. 50 more than the average
donation of all (including President) of them.
Then the contribution of the President is

Tt oe1a & 3116 U Ted &I § & 100 i =6
T A ¥,
LAY & T INHA 8) € 50 e I a1 8, @
ALY HT YA Tham & ?

(a) 106.25 (b)156.25 (c)56.25 (d)206.25
If a+b+c=15 and l+1+1 Ll , then the
a b ¢ abe’

value of a® + b3 + ¢3 —3abc is

ge a+b+c=15 IR 1,1 37 5
a b ¢ abe

a® +b3 +¢® —3abe

(a) 160 (b)180 (e) 200 (d) 220

If kis kis the largest possible real number such
that p4 + q4 = (p2 + kpq +p2)(p2 —kpq + q2)
then the value of k is

gfc r a9 aEt UWd drdiae tH OEn g e
p* +q* =® +kpq + p*)(P* -kpq +q*) WAk
T U FT g

(a) 1 (b)—/2 (c)2 (d)~2
AABCis similar to ADEF. If the ratio of similar
sides is K : 1, the ratio of their areas is

AABC ,ADEF & ®9&U §| 4 @9 Yl &
AU K : 1 B A 3% el T U 2

(a) 6 (b) 12 ()11 (d)3

AABC inscribed in a circle so that BC is
diameter. The tangent at a point C intersects
BA when produced at a point D. If ~ ABC = 36°
then the value of ZADCis

& g9 § AABC 39 Y& &1 8 f& BC | 21 sl
@1 f6g C WX BA @i d9 &edt § 99 3 fag D &
f@=n s afg £ ABC =36°dt £ ADC &7 UH &1 &

IR Fo@ F Ay Iiwad qW W, (e

19.

20.

(a)36° (b) 44° (c) 48° (d) 54°

If the length of the shadow of a vertical pole be
V3 times the height of the pole, the angle of
elevation of the sun is:

g Tt Saafer @ &t BT @ &t F9E 9§ 3
IO & At G & 3qE &l A Thae fesit @ @ ?
(a)60° (b) 45° (¢)30° (d)90°

If the simple interest on a sum of money for 2
years at 5% per annum is Rs. 50 the compound
interest on the same at the same rate and for
the same time is

gfe ferdl YT X 5% afifes &t T | 2 TH HT TERUT
S & 50 2, ot 3@ T uT 34t I | Ia4 & 9 &

wehgfs SATS TohaHT gRT 2
(a) Rs 50. 50 (b) Rs. 51.25
(c) Rs. 51.50 (d) Rs. 50.05
21. If rsin0 =+/3, and r cos0 =1, then values of r
and 0 are : (0 <6<90°)
e rsind =+/3 A reoso=1d r X 6 @& 7
T EM? (0 <0<90°)
() r =16 =30° (b)r=%,6=30°
(c)r=+3,6=30° (d)r=26=60°
22. Study the bar diagram carefully and answer
the following questions . Export (in Billion
Rupees) of gens and jewellry in the year
1991-1992 is given
USA 22.6
Japan
Belgium
Hongkog
UAE
Thailand
Swetjerland
Israil
UK
Germany
0 5 10 15 20 25
BIEUW T SAMYdS FeFIT Hieg i Frfarad
srsrﬁ%wﬁﬂ%ml T 7T STUUT &1 1991-1992 &

frata (a3 fafeem ®) fean = g

The ratio of the sum of the exports to the
bottom six countries to the total exports to all
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23.

the given countries in 1991-1992 is

approximately.
1991-92 ¥ iwt B vl & fawu U fo=ra & 9T SR
ﬁqnq;%ﬂ#ﬁéswﬁuﬁ%aﬁmwmm

(a) 1/6 (b) 1/5 (c) 1/8 (d) 2/9

The country to which twice the export is
nearly equal to the average exports in 1991 -92
is

g wH-T1 39 ¢ Ted 1991-92 ¥ gen fafa &1 rp,
sitga fata & ey 872

(a) UK (b) Thailand (c) Israel (d) UAE

24,

25.

The ratio of the total exports to Japan,
Beigium and HongKong to the export to rest of
the countries in 1991-92 is nearly .

UM, dfestam i gl @i fhE U $or e SiX
1991-92 ¥ 9§ @&t Ty U fafa &1 SguE @
Torae 272

(a)35:34 ()35:69 (c)69:35 (d)35:35
The export to Hongkong is approximately how
many times the export to Germany?

g @t fear e frafa sofdt =t feg o fafa &
T Tt TAT 2
(a) 8 (b) 9

(c) 10 (d)11
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- answer key
1. () 2. (d) 3. (c) 4. (c) 5. (a) 6. () 7. (d) . (a) 9.(c) 10. (b)
11. (c) 12.(b) 13.(b) 14.(@) 15.(b) 16.(d) 17.(a) 18.(d)  19.(c)  20. (b)
21. (d) 22.(a) 23.(d) 24.(a) 25.(c)
HINT & SOLUTIONS
1. Hiyew  TRyA FASE | RIE] 3 25
g (time) x @ yf@ LCM(x,y) = xy | e 12 25 Tl =37
Frlem (Bff)  y x i 3791 = 37000 €
T =l AR T i 192 =1,000®
__ A ®H i FAF = 1272 = 12000 &
ST 1 T erEar ! -
xy ' 5. 20 Yw@! &1 Cp = 25 & Sp
= ! 20 x Cp = 25x SP
(x +y) i cP_2 5
2, ! SP 20 4
| Cp_5
i Sp 4
%'Iﬁ:%xlOO:ZO%
TR STEATAHL F Hl 3112?!?17{ i a1 = PSP 100%
:gn(r3 —r3) | Cp
283 _43) O g 10T
i 5 — initial
- 2(512-64) ! 6 — o1
3 : 6 gf1e =66
=§Tc><448 : 13f =11
i Rt = 5972 = 55
TH R W I o § : K
. R T ST =i 1 3To i 7. Relative speed = 45 — 40
2 19 ! —5km/h
—nx 448 ==-nr°h i ] )
3 3 ; - 3HI T B foen H
gnx 4482171',)((8)2 < h i .. Relative speed SHET i TG T 3T BT
3 3 ! T = 45T
2x 448 =64 x h i 45 3
448=32x h | 60 4
14=nh i Tl == < g7
h=1dem | _5x3-15_3.75
! 4
3. W HHIST @ 3ifRd o =100 JFE 27fre 18 xi51_ 1 _@
el B =T% =7 e _amw ¥R x+1 .
T B =9% =9 I = a9 H FHH | x+1+4+ =6
2 9 =15 ! x+l
_ ! (x+1D+ 1 =
19 =75 i (x+1)
100 I = Mp =7-5%x100 : Let eilo A
=750 ® ! 1
! A+—=2
fuft  wrERT Sui | A

4, QAN
TR 4 1

Ig had a9 T ST A =1
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10. A

B C

/A =3x /B
Let /B=x"°
/A =3x
ZC =x"°
/B=/C
A+ /B + 2C =180°
3x +x +x =180
5x =180
x=36°
LA =3x =3x36
=108°

11, C

TETAHIFS = A
FSIAFH M AC =6¢0m
BRIARHS = B
Given

aﬁ%?ﬁﬁﬁﬁﬁ§ﬁ:%m
AB =2cm
AC =AB+BC
6=2+BC

BC =4cm
B I i e

12. y=2secH
x=3tan0

=secO

=tan6

wW|R o

We know that

2 2
1+L=L
9 4
y? ?
4 9
S
9 4
13. HMT n =97
n=Tx2=14
4)14(3
12
"2 > Rem

14. Let the contribution of the President (|MT
ALY HT TF) =Rs. x

ATQ, 800 +x + 50 o
9
= 9x =850 +x
= x =106.25
15, a+b+ec=15
1 11 71
St +=—
a b ¢ abe
bc+ca+ab:£
abe abe

ab+bc+ca=T1
a+b+c=15
(a+b+0)? =225
a? +b2 +c2 +2Aab +be +ca =225
a?+b2 +¢% +A717) =225
a?+b2 +c2=83
a® + b3 +¢3 =3abe

=(a+b+c)[a2 +b2 1 c2 —ab -bc —cal

=(@+b+0ola?+b%+c? —(ab+bc+ca)l
=(15)[83 —(71)]
-15x 12 =180

16. p* +q* =(p® +kpq +q*)(p® —~kpq + )



ZACD =36°
AADC ¥
Z/CAD + ZADC + 2 DCA =180°
90 + ZLADC +36 =180°
ZADC =54°

19. B

22, 9 & 6 29N &1 Tl : Wit S9N &1 HA T
(226 +12-5+12-1+10-6

+3-3+2:-5+1-6
+1-6+1-6+1-1)
69-5
695

[117x 6 =705 =695]

3+25+1-6+1-6
-1-6+1-1)

11-7
117

1:6

- Options accurate ! %
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=(p? +q* + kpa) i BC =@ % Fo =4
(p” +q° ~kpa) | AC =HV3
p4+q4:(p2+q2)2 —k2p2q2 i tanA:i
(p2 +gD2% —2pq2 = (p2 + q2)2 —k2p2g> | HY3
k? =2 | = = tanA =tan30°
k=<2 | V3
: A=30°
17. A D i
| 20. WHT GG = 100 unit
K = 1 i T (1) = 5%
i g (1) =2 99
B C E F ! ST qeEd 100 Je, T
AB & i Glo &ASI(SI) = rx ¢ =10€gﬁ|€
DE 1 i 1032 =50 %
AMBC 12 i TAEH (P) = 100 3fE = 500 F
ADBF 1 r=5%=2—10_)m
= k21 i - e
18, D |
s
A i
! “n=5,=125
i TG S = 25+ 25+1- 25
B {436 c i =51-25®
0 i
U | 21, rsinf=+3 oo (@)
i rcos0=1. ... (11)
D L @)
- STEIA B o1 HI0T THHIOT Bl B i tan SO _ V3
/BAC =90° i rcos® 1
.. Z/CAD =90°(-- Z/BAC + ZCAD ! tan0 = v/3 = tan60
=180°) ! 0-60°
AABC ® i rsin® =+/3
Z/BAC + ZABC + Z/BCA =180° i rsin60 = /3
90 +36 + ZBCA =180° : 3
o | r 2 =43
Z/BCA =54 : 2
L HE O W TR @ W G T T qEehin s el e
/DCB = Z/BCD =90° ! r=2=0=60°
/BCA + / ACD =90° !
i (22-25)

. Near by fer@m = 2l
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23.

sivem forafq = 270
il
:% =6-95
10
(i) UK =16
1-6x2=3-2%6-95
(ii) aTEevE =2.5
2:-5x2=5%6-95
(iii) U.A.E. =3.3
3-3x2=6-6=6-95
(iv) SeIsed =1.6

1-6x2=3-2#6-95
So, UAE

24,

(Japan+ Belgium+ Hongkong) : 919 391
12-5+12-1+10-6):(22-6+3-3+2-5+1-6
+1-6+1-6+1-1)
35-2 :34-3
35 : 34

25.

Hongkong =106
Germany =1-1
1-2xn=10-6
n=10%_9.63
11

=10




